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OsENTA 2ddu= 1,600,000& * 104 2] 1,600
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Oshdi4-Ha| ddu= 1,600,000& =101 2| 1,600
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OMilsglag8us 9,000& 700 6,300
2 3,150
s 3,150
Stu4-Hal HHEsKH 8,000 8,000 0
= 4,000
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= 3,480
o 3,480
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301 et a3 1,040 1,500 A460
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10 HAIAHIE S = 1,040 1,500 A460
ONNEsus ZAt=E 208,000 *52] 1,040
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A-HetsHM =S 13,000 3,000 10,000
= 1,500
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307 gztold 13,000 3,000 10,000
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307 212t01& 5,000 5,000 0
= 2,500
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= 8,350
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= 1,500
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10 SArAIHI A 5,000 3,000 2,000
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= 1,500
2 3,500
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= 3,000
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OS=XNEX 245 X 10,000,0002+1IH3] 10,000
= 3,000
2 7,000
402 212t XH 01 F 50,000 4,800 45,200
= 15,000
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OYsSHMN DHES X2
50,000, 00021 %174 2 50,000
= 15,000
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SHEREI2ELAY 984,000 3,290,000 2,306,000
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403 XX SIS KHZ O & 984,000 3,290,000 2,306,000
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2 295,000
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OJIP A& AtRIHI S 984,000
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402 2I2H X =01 150,000 161,200 A11,200
01 BIZtGEEX 150,000 161,200 A 11,200
O sIAH XNA(ZBALESIIAH)
2,500, 0003 *40%=*150CH 150,000
SO UM 945,400 291,344 654,056
101 el ] 55,600 40,505 15,095
04 JI2tHIZ2E2NHEE S 55,600 40,505 15,095
OsJIH SUAE s =24 49,202
—Jl2s 100,000& «37 L +7H 25,900
— e 100,000 & «6 L «7H 4,200
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OsJIH SUAE X 5,362
= 60,000 x50+ 1H 3,000
—F=5¢+E 60,000 7€ x1H 420
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01 AtS 22l 4,730 2,000 2,730
OsH 4,730
02 =234l 45,000 4,400 40,600
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202 O4H| 4,000 2,000 2,000
01 =Wl 4,000 2,000 2,000
OsJIAHZ UMY =8 2 sHI|H=2l=L 4,000
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A JI=X3 L

M sl HEES

celr DEE MADIE NS (e @8
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Of) &b o il i~ o HRs2
SEXD 500
202 01t 4,000 4,000 0
01 2L oIHl 4,000 4,000 0
OJle2a HREX ofy| 4,000
402 QI XHZO|H 298,000 346,000 48,000
01 QUAZBE 298,000 346,000 48,000
O=xg HlE LA 298,000
—t 200,000 *3,000ha*40/ 100 240,000
KNS 45,0002 *1,000ha*40/ 100 58,000
BT U SHICA 2 14,000 14,000 0
=2 7,000
2 7,000
101 Q1248 6,030 5,762 268
= 3,015
2 3,015
04 JIAH22RSES 6,030 5,762 268
ONEE ¥ B 29 2R 6,030
-3 35,0002 4702 +28 4,900
= 2,450
2 2,450
—R282+Y 35,0002 %92 2% 630
= 315
2 315
—sHEEE 500
=2 250
2 250
201 Y2 Y| 4,000 4,600 AB00
= 2,000
2 2,000
01 AtR2elt] 2,500 4,000 A 1,500
OMEET o AT 29 1,700
=2 850
2 850
OET o 2ET HEHME  80,0002+103 800
= 400
2 400
02 T2l 1,500 600 900
OUZZY RXS4 150,0002 %105 1,500
= 750
2 750
206 T2 bl 3,970 3,638 332
= 1,985
2 1,985
01 T2l 3,970 3,638 332
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A H 9 FAY - BES &5 Ofl & 04 ree
OUZE @ #2% 29 Nz 7Y
992,500 *4 4 A 3,970
= 1,985
= 1,985
FEF A A X| 452 954 A502
= 206
= 226
402 2I2HX =201 452 954 A502
= 226
= 226
01 GBIt EEX 452 954 AB02
O&EU X& 28,500& x 154+ Xk+80/100 342
= 171
= 171
Os0SAIZSUHXE 10,000 » 114+ Xt 110
= 55
= 55
AHASELE WS 10,000 0 10,000
= 5,000
i 5,000
206 M=l 4,000 0 4,000
= 2,000
i 2,000
01 M=l 4,000 0 4,000
OAHINSEMEDS W27
20,0003 x40 +53] 4,000
= 2,000
i 2,000
301 etEA = 6,000 0 6,000
= 3,000
= 3,000
10 HAAHIZ &3 6,000 0 6,000
OablNsEd8ws A 600,000 *50H 3,000
= 1,500
= 1,500
OxHIN=EMENS ZA=E 200,000 *8H 1,600
= 800
= 800
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7,000& «40H +53] 1,400
= 700
= 700
KNESESE ML Edz2el MY 20,000 0 20,000
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= 10,000
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01 It ELEL 20,000 20,000
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= 10,000
= 10,000
Qlah LHXHoHeE ZEM ol otE Al Al 20,000 20,000
= 10,000
= 10,000
402 22t =01 20,000 20,000
= 10,000
= 10,000
01 2ItXEE X 20,000 20,000
Oelal UXHohs ZEI oiote Al
20,000,000 * 10 2 20,000
= 10,000
= 10,000
SN0 HEHSX =& AIHALY 31,200 31,200
402 QIEHE0IM 31,200 31,200
01 2ItX=Ex 31,200 31,200
O1n+0t= 7Y 50& 780,000 %40/ 100 15,600
O&ldl 7 3,000% *13,000%£*40/ 100 15,600
golESEedHII=X 20,000 20,000
= 10,000
= 10,000
206 M=l 5,200 5,200
= 2,600
= 2,600
01 M=Hl 5,200 5,200
Oddis & =y 260,000& 203 5,200
= 2,600
= 2,600
405 AHeHESHI 14,800 14,800
= 7,400
= 7,400
01 T =S FH S| 14,800 14,800
OdoilE AHEH P (PCRII 268) 14,800
= 7,400
= 7,400
ZlEtd AMS MBS LM Jl=Ag 8,000 8,000
< 3,000
= 5,000
402 b= 01M 8,000 8,000
= 3,000
= 5,000
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S CRI(SH) - HRAY - B sl e HlRE2
QI t=E L 8,000 8,000
Oz ed BHSIMHHSE LM JI=sAlE

10,000, 000 * 17K 2~ *80/ 100 8,000
= 3,000
= 5,000
t=oiE RUZA AIAE ASAIY 6,000 6,000
= 1,800
i 4,200
405 AHoHESHI 6,000 6,000
= 1,800
i 4,200
01 XL SEFSHI 6,000 6,000
OB+ HE 20 ZAANAY 25
6,000, 000 *1JH & 6,000
L= 1,800
= 4,200
Z 29 214,748 49,625
Ax 2 191,944 26,821
jellal=] 73,744 6,680
04 JIZHMIZZ2XESE =+ 73,744 6,680
OADIAIEE AtDtR 22| (8 gel8) 54,544
—&8F 70,000 30 *10H 21,000
— &5/ A 37,2703 »302 x20H 22,362
— At ===t 37,2703 102« 15H 5,591
—ElHl/HlE Al 37,2703 102« 15H 5,591
OAOIH & =<0I 35,0003 12 +20H 8,400
OJIZFMIZ 2 Xt 2tal 3,000& 30 +70H 6,300
ONELTHEE 4,500
L2 A 6,100 0
AFE 22|l 2,500 0
OsH 2,500
3224 3,600 0
Oos 3,600
X 24l 92,300 3,841
WEL] 92,300 3,841
OALDAIE E 22|29 Z 66,500
—Z=2ESH 229, 1663 * 123 x8ha 22,000
— &4l 5,000& *700X£ *8ha 28,000
—HlZ,Z28, J2MNS 110,000& 102/ *8ha 8,800
—HEES 100,000 35 *7HI E 2,100
—&g=s, AYEt S 100,000 «2&+8 M E 1,600
—sJIH B8 =d 400,000& = 10CH 4,000
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OAOIHE 2Z 12,600
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—22Z(HO0 b S) 2,000&*1,500= 3,000
OJIEt 29425 2,000
401 Al&HI YR OHYI 19,800 0 19,800
01 Al&H| 19,800 0 19,800
OA DI (8 2 & 19,800,000& *1ha 19,800
MM 2H 22,804 0 22,804
101 Q1 Z4H| 7,454 0 7,454
04 JIZHMIZ 2 XS 7,454 0 7,454
ORSMME B2 =)
37,2703 20«10 7,454
206 M=l 15,350 0 15,350
01 M=H| 15,350 0 15,350
OZcl 2EMa 15,350
—i=s 1,500& +5,000% 7,500
—8=NME S 1,000& *5,000= 5,000
—JIEt 24 1,850
—-J=s0t B 1,000
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EBOIE MM = 87,836 104,426 216,590
= 43,918
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201 LEH2HH| 4,000 0 4,000
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02 Z==23Hl 4,000 0 4,000
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= 18,000
= 18,000
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= 5,999
= 6,001
101 Ql244| 10,072 9,108 964
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- 2 1,470
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202 O4H| 4,000 3,000 1,000
01 =LA b 4,000 3,000 1,000
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201 LEt23d| 2,000 2,000
01 AbR22lH| 2,000 2,000
O 3o 2,000
206 =Yl 9,000 9,000
01 M=H| 9,000 9,000
(OR-—RL 9,000
— ety s 100,000& *10&*62l 6,000
—J|IEt 22 24| 3,000
405 ItHatH S| 1,000 1,000
01 XL SEZFHSHI 1,000 1,000
O&EYZ0I=ED 100,000& *10& 1,000
ANHE 2233 ©@HHE ZHMA 2= 10,800 10,800
201 LBt A Y| 1,500 1,500
01 AtE222|H] 1,500 1,500
O 3« 1,500
202 o4l 800 800
01 =LHOA b 800 800
O =Wl 800
206 M=l 8,500 8,500
01 M=H| 8,500 8,500
O 5 8,500
—gHssaY 100,000& *10& 1,000
-4z 22z #¢ 200,000& 308 6,000
—J|IEt 22 24| 1,500
ALt =M SX ARS S| 8,500 8,500
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206 M=l 7,000 7,000
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—JIEt AR S TR 2,000
IBAETI B 29 11,880 11,880
101 o124t 5,880 5,880
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O MUHAIEZ 2l 5,880
SUEE 35,0002 %1392 * 1% 4,865
-R3524+Y 35,0009 +292! * 12 1,015
201 Ler2oy| 1,000 1,000
01 At 22l 1,000 1,000
O =9 1,000
206 2| 5,000 5,000
01 Ml 5,000 5,000
O 59 5,000
—EXE2RU 200,000 +53] 1,000
—SUW(L=EH S) 2,000
—JIE2gARE 2,000
Mz ASAE RSN 10,000 10,000
= 5,000
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101 o124t 1,330 1,330
= 665
= 665
04 JILH2EXS B4 1,330 1,330
O dzuz2gosy 35,0002 38 * 1 1,330
= 665
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201 ety 1,800 1,800
= 900
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01 AFR22lH| 1,800 1,800
OAr= 22l | 1,800
—22 U ASHSLME 10,0008 *1005 1,000
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—EEAE 50,0002 * 105 500
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DAS NGEM 200,000 0 200,000
= 100,000
= 100,000
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= 100,000
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OCIsd 201X B3 HEAY
100,000, 000& 17 A& 100,000
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OEtRSEA SHAY
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= 50,000
= 50,000
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= 270,400
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O st=ESSIEIEHH &3 5,000
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ME: =0l )
ol mEME 2 SeEd)
A BB O(B) - NEAY - BAS sy S RS2
0 & o
= 4,500
i 4,500
405 Rtak 450,000 0 450,000
2 225,000
= 225,000
01 Xt 450,000 0 450,000
Os IHSHH JHEI1+7 2 450,000
2 225,000
= 225,000
XA LA 200,000 0 200,000
306 =3 200,000 0 200,000
01 =9 200,000 0 200,000
OX 200,000
D=4 XI& 453,967 558,950 A 104,983
ADFEHX LR 332,680 480,550 A 147,870
402 QI2HX=01A 332,680 480,550 A 147,870
01 SIAXGEEX 332,680 480,550 A 147,870
OAMIHI=H XA 33,268,000 *25ha*40% 332,680
= o222 JINM XA 62,400 68,400 A6,000
402 2I2H X201 62,400 68,400 26,000
01 BIRR=EE 62,400 68,400 6,000
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101 144l 43,397 0 43,397
04 JIZH2ERSE4 43,397 0 43,397
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(OFSFS| 37,2703 x2 x26H 1,939
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